
MATH-4 

ion:
Firhe pmime-laetoni2chion. ot 290 wimA hnee difevent 

metuods. 

A he ques noi 

O Pvision methed- Twee diognam- 

2 1240 
2620 
2 31d 2 20 

Mutipieotion metod:- 

12 40 2n 620 = 2X2X JD 

2x2 15S 
2 XSX1 

Themeorre -he pime adonizothon. o 240 i: 
= 2 S. 31 



een2 

Finding e alloio o 1240 wimg,mee diognan 

Tee liagnam: -
N 

2:06 

2 310 

S ei 
Thenbne, e pmime aetomi2.tion ot J24d i= 2.s. 31 

Hhetal numbey t aetoes 
uo 2 S. 31 

C +1).CH1). 141) 
= 4. 2 2 

.he umbey ome , 2, h,5, 9, l6 20, %l 40, 
C2 124, 1S, 248 910, 20 
C 

124D 



Find the ol poime acoas ot 12o 

12d = 2x 620 

=2X 2 A3l6 

= 2X2x2XSX3) 

Tenebne, he psime taetsrs t 1240 2, S, s31. 

6ue: 
Find all he eomposide toefon 240 

Compesite setons 

1246 4, 3, lo 20, 40, Ca 12S 24 8, 15, 

310 6 20 6 1240 


